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EAAH

Instructions to Contestants:

1. XEEHE Ad#@ i alEEAJEGE -
Each contestant should have ONE Question-Answer Book which CANNOT be taken away.
2. AKEH5[E#HE  SHES6E - H30E §FESD - B0 15070 SEAD -
There are 5 exam areas and 6 questions in each exam area. There are a total of 30 questions in this

Question-Answer Book. Each carries 5 marks. Total score is 150 marks. No points are deducted for
incorrect answers.

3. BREXRSE EEH L -
All answers should be written on ANSWER SHEET.

4. EEHE  ABEHEELE -
NO calculators can be used during the contest.

5. XERFRAEBEA—TEMKEAIER -
All figures in the paper are not necessarily drawn to scale.
6. CEETENR  Aa@EgwU(o -
This Question-Answer Book will be collected at the end of the contest.

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

e RE AT HZE -
THIS Question-Answer Book CANNOT BE TAKEN AWAY.
AEEZEERE  UZ7EREE  SRIZEERAJBERBUEERS -
DO NOT turn over this Question-Answer Book without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.
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All

SERBE S8 L
answers should be written on the ANSWER SHEET.

IHZERE (512 30%8 ) (BB BHEAEBEAHD)
Open-Ended Questions (1%t ~30™) (5 points for correct answer, no penalty point for wrong answer)

Logical Thinking
LEH/L;\ &

According to the pattern shown below, what is the number in the blank?
BLUNERE  KEREE EEF -

Today is Friday. Which day of the week was 22 days ago?
SKEEHH - 22 REIEEH%?

In order, we add 1, minus 2, times 3, divide by 4, times 5 and minus 6 to a number, and the answer is 129.
What is the number?

HFHIERML B2 &3 R4 586 BEH 129 - KZH -

There is a bag containing marbles which is either red, green or yellow. There are in total 27 red marbles
and yellow marbles; 26 yellow marbles and green marbles; and 25 red marbles and green marbles. How
many marble(s) is / are there in total in the bag?

—EERRERA =NGE—EER AeNEeEREE 27T B =2NEe RS 26 4 -
AIEMEEEEIRILA 25 8 - BERPAZ/DREIR?

When Amy adds two numbers up, she miswrote 14 as 41. Then the sum becomes 97. What should the
correct answer be?

NEAFEIRINEE - RIS 14 AL 1 41 - FIE AL © 97 - BIRANFEZZ D ?

When mum were 25 year olds, she gave birth to the elder brother. The brother is now 23 years old, and
the younger sister is 3 years younger than her elder brother. How many year(s) are there between mum
and the younger sister this year?

IBIBTE 25 mMAVISIRE (S8 - SFEF5F 23 % - tRIKEESF S0\ 3 Bt - BB S FLLIRIR RS V5% ?

FUBRBIENERER  BfEERENE - FRAKENHATHY - ARAEERBMNE - EREBEURSALTETOE -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

10.

11.

12.

13.

14.

15.

16.

Arithmetic

S iy

Find the value of 1012x988+144 .
5K1012x988-+144 AY1E -

Find the value of 4+8+12+16+20+24+28+32+36+40+44+48+52.
SKA4+8+12+16+20+24+28+32+36+40+44+48+52 918 -

Find the value of 1-4+9-16+25—...—100+121.
K1-4+9-16+25—...—100+121H91& -

Find the value of 1010+2015—1+2010-+2015+1010+2015-1.
5£1010+2015-1+2010+2015+1010+2015—-1FJ1& -

What is the number that should be filled in the blank if the equation below is correct?
HLUNEINE T REHFES RS 1M ?
+7=111

Find the value of 132x1+132x2+132x3+132x4.
SK132x1+132x2+132x3+132x 4 1A °

Number Theory
21 :m

Define a®b=(9a+6b)+(10-9+8-7+6-5), for example, 5®6 =27. Find the value of (6®9)®7.
EFzadb=(9a+6b)+(10-9+8-7+6-5) - Y1506=27 : K(6®ND7HIE -

Dick and Eric have 24 apples. Dick has 4 fewer apples than Eric. How many apple(s) does Eric have?
NNVEFNDHEB 24 B5ER - /NBEE NN 4 B5ER - BN IBZ/DEER Y

The age of mum is 3 times of that of Lily’s. 5 years later, the sum of their ages is 58. How old is Lily
now?

SE/BBNFERZ/ NS IFE - A b FRNFEMMER 58 - BSFENLEZHE ?

Find the unit digit of 20117°" x 2012°°"* x 2013°** x 2014**** x 2015°°*° ,
SK 20117 % 201222 x 201328 x 20142 x 20152 B9 EI 1 8] -

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



mERERRE BEM £ -

All answers should be written on the ANSWER SHEET.

17. Red Hoody picked flowers for her grandmother. The number of daisy that she picked is 2 times more than
that of lily. The number of rose that she picked is 4 times as the number of lily. If she picked 15 daisies,
how many rose(s) did she pick in total?

INIMEETCAAINE - IENHEEREZ 2E  WHRNHEBEZAGN4E IR ¥IEA 15
% - BVNALNERS 2/ DBOR ?

18. Find the remainder of 12345678987654321234567 +9.
[5]12345678987654321234567 +9 AU ERE] -

Geometry
Zea]

19. How many square(s) is / are there in the figure below?
o NEBZ/DELESE?

Question 19
%19 7
20. A larger square is divided into 9 identical smaller squares, and each smaller square has an area of 4cm?,
Find the perimeter of the larger square in cm.
A—EIEREED K9 EHEEN/NESE - SE/NEAENEREZ 4 FHEX - BRANIER
EEREZDER?

21. How many square (s) is / are there in the figure below?
NEBZVEIERE?

Question 21

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

22.

23.

24.

25.

26.

217.

28.

29.

30.

$F21 &

A prism has 57 edges, how many face(s) does this prism have?
B—E1E5EA 57 k& - BEEREEZ/MEm ?

6 equilateral triangles are formed by cutting a regular hexagon. If the perimeter of the hexagon is 48cm,
find the sum of the perimeter of those 6 triangles formed in cm.

—EIESNEBEE DAL 6 BFE =S  NBIENERZE 48 BXK BB =—sENBAREEZVE
K2

At most how many line(s) can be formed by using 10 points on a plane?
EFELE 10 7 &2 IEMZIMER ?
Combinatorics
HE B2

Betty starts studying at 7 p.m. and ends at 9: 30 p.m.. If Betty takes a 5-minute break every time after
studying for 30 minutes, how many more minutes does she study than she rest?

NWBHERE - §RE 30 DiENE 5 niE - Mk -t TIRERRE  REZG EAKY - BiRE

WISELERENEEZZ D 0iE ?

Eric and David have some candies. Eric gave half of his candies to David. David then ate 7 candies, and
gives half of his remaining candies to Eric. At the end, Eric has 38 candies and David has 20 candies.
How many candies does Eric have at the beginning?

NHRNMESBE R DR 8T ME - ZHRMEET 7T EETHEE - ABIEE FI
BI—KLN S - BN NE 38 BIRE - VES 20 BIRE - MEANNBES/DERE ?

How many even number(s) is / are there in the following numbers from the 1% to the 500%"?

MEREES 1 @255 500 EHE - BZ/MESH ? (BHEIEZEE )
2,5,8,11, 14,17, ...

David keeps half of his monthly salary for his rent, and half of the remaining half for transportation
expense. Also he keeps $2500 for daily meal and other expenses. At last he has $800 for saving. How
much does David earn a month?

IMEBHEFR  HP—FEBFEE - 8 MO BB E - (REE 2500 THRFHEERY A H
AmEHE - &EER N 800 TiFE - B/NER#HZ DT ?

Pick 3 from 7 children to take part in Chinese competition. How many different combination(s) is / are
there?

7 BNz 3 EE MNP XIEE - B /MEAEalEEM ?

The volume of a big bucket is 3 times the volume of a medium bucket, and the volume of 2 medium
buckets has same volume as 6 small ones. How many small buckets has the same volume as 3 big

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

buckets?
1 BAKBENAEEZ 1 BT/KEN 3 E - 2 BT /KENSER 6 B/ KB —% - B 3 EARKE
WRSBBENZ/VMEA/NKBHEE ?

Y

~ End of Paper ~

FUBRBIENERER  BfEERENE - FRAKENHATHY - ARAEERBMNE - EREBEURSALTETOE -

Write down the answer in the simplest form. If the calculatlon result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



